Chapter 2a - Trigonometry - Qutcome 20.4

Levef 2

1.Sketch an angle in standard position with each given measure.
a) 24° b) = 104°
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2. State the reference angle for each angle in standard position,
a) 55° b) 155°. c) 255° d) 355°
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3. Determine the measure of the three other angles in standard position, 0° < 6 < 360°, that have a
reference angle of

a) 40° b) 72° c) 88° d) 3°
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4. Complete the table. Determine the measure of each angle in standard position given its reference

angle and the quadrant in which the terminal arm lies, \ |
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c) 1% 200°
5. Determine if the pair of angles have the same reference angle,
a) 50“, 140° b) 2000’ 290°
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6. Determine the exact values of the sine, cosine, and tangent ratios for each angle
yh

Y
4. . J3 -
= % — Swie 028 —Sw 0%
4 A h b
— (6545 5 J 2.
: . 2 "‘—(_,O':)(a()o = % Cos &Da = E
- *an geeall *
* Tz tan e =52 .33 —tandee oo 3
\ Jg 3
7. Without using a calculator state whether each ratio is positive or negative.
a) sin 100° cos 200°
4

€) tan 300° sin 350°
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8.An angle is in standard position with its terminal arm

m in the stated quadrant. Determine the exact values
for the other two primary trigonometric ratios for each. ‘
a) sin 0 = %; quadrant ITT

b) cos 8 = g,quadrantIV
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9. Solve each equation, for 0° < 8 < 360°, Use a diagram involving a special right triangle.
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18. Solve each equation, for (° <8 <360°.
a) sin 0=0. 7‘760
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11. Determine the exact values for sine, cosine and tangent for each angle below. Show your work
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Chapter 2b ~ Sine and Cosine Law — Outcome 20.5

Level 2

i .Determine the length of AB in each triangle.

A
) v =
40° e =, s
< S S (O
o 3 .o\'::l v

LS - e s
A S S
o :- 5» 3 ’2»’ W

2. Determine the length of the unknown side of each triangle.

a) A
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3. Determine the measure of the indicated angle.
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4, Determine the measure of the indicated angle.
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5. Solve each triangle by determining the unknown sides and angles. E
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6. Sketch each triangle. Then, determine the UNKNOWT SIAS dDU AUBLES. L LWL SUbuiess v OIS

give both.

2) In AABC, AB = 15 m, BC = 5 m, and £A = 20°. S58A
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b) ln APQR, PQ =12.5 cm, QR = 13.0 cm, and £P = 103°.
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¢) In ADEF, DE = 8.0 cm, BF = 6.0 cm, and £D = 40°. T .
= =
é» h = %0 S \.\_‘Q = 5\'»\- --%C\B
A '\‘F‘O“‘V\S\M
o/ ]
R S A 9 » 19
| O d) D
D L300 & e O @ o
nb SN (o
% T2 - D '33616 = 2 \%D ~9% = an®
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Final Exam Review - Outcomes 20.7a, 20.7b,20.8b, 20.9b

Chapters 3a and 3b (Quodratic functions in Vertex and Standard Form} Chapter 4b (Soiving
Quadratic Equations) and Chapter 8b (Solving Quadratic Inequalities in One Variable}

Chapter 3a — Qutcome 20.7a

Level 2

1. Complete the following table

Function Vertex Width {normal, Direction ({Concave Axis of
narrow or wide} up or Concave Symmetry
down)
=—(x+4)°+5
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2. For each graph, identify the following:
s the coordinates of the vertex 7y
¢ the equation of the axis of symmetry
s the x-intercepts and y-intercept 8
e the direction of opening
¢ the maximum or minimurm value / 6 \
« the domain and range
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Level 3

3. Determine a quadratic function in vertex form that has the given characteristics.
a) its vertex at (-2, 3) and passes through the point (1, 1)
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—e = oo (VY™
b) its vertex at (3, —2) and has an x-intercept of (5, 0)
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4. Determine a quadratic function in vertex form for each parabola.
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5. For each function below, state the domain, range, vertex, direction of opening, max or

(x+3)%-9.

min value, number of x-intercepts and the width (narrow, normal or wide) Then sketch

the graph.

a) y

b) y= -2{x-1)* +8. Sketch the graph.
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Chapter 3b — Qutcome 20.7b — Graphing in standard form

Leve} 2
1.

range, axis of symmetry, number of x-intercepts, the y-intercept point, a

vertex form. Then sketch the function.

1. Determine the characteristics of each quadratic function below. State the vertex, domain,

n}:rite the equation in
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Level 3

Write each function in vertex form by completing the square. State the vertex of the funciton
a) y=x"+2x—4
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Chapter 4a ~ Outcome 20.6 — Foctoring

Level 2

1.

Factor the following
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Chapter 4b — Quicome 20.8b — Solving quadratic equation

Level 2

1. Determine the solutions to each equation graphically. *Had gt
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2. Solve each of the following algebraically. < oo = -
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3. Solve the following equations algebraically. QQC}(U( e
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Quicomes 20.7a, 20.7b and 20.8b

Accurately graph the following quadratic functions. Please include the roots, vertex and y-intercept on
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Chapter 5a ~ Qutcome 20.20 — Radicols

1. Express each radical as a simplified mixed radical.

a) 54 Jan Jia b)

35% S
€} v98x%, x>0 d) \/63x5y3,x20, y=0
Jgg.-Ja - Jwa
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2. Express each mixed radical as an equivalent entire radical.

a) 45 b) 2313
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3. Order each set of numbers from least to greatest.

a) ~2/3,/50, -14,35 b) 43, J12, 246, /20
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4. Simplify each expression.

a) 7411 —3J11 + 811 b) 43% — a2 + 32 -2
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5. Multiply. Express each answer as a mixed radical in simplest form.

() 7).

2) (645)(243) b)
BN

6. Simplify each expression.
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7.Rationalize each denominator. Express each radical in simplest form.
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Level 3

8. Multiply using the distributive property. Simplify each expression.

a) (3vZ — 5V10)(V6 + 8v12) b (3+407)(5V7+2)
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11. What is the perimeter and area of the right triangle shown? State the answer as an exact value.
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Chapter 5b ~ Quicome ZU. 213 ~ SOIvmng roeicul cyueivi

Level 2
1. Solve for x in each equation. . N
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2l M syeas 4%
wegns b ’%ﬁjégg . 2, e yE
k)\/—-— 3iT0=-3 @f%f}ﬁ"ﬁ {Q«ﬁﬁﬁ“ﬁ :
”/{;’w;c_a%\} ORI TS f‘*j%‘;’zﬁ wpo= {:%Ef Wﬁ}
S R E I Yradyrt = I 20
Lo -b S;}Z:;& Y - Fm%j PPAERS
R Ly - 3)(y-7)=0
& oAl ” ﬂr » ﬁ f.fi} = ,7 o
A e 136 -l o2
{,hﬂ.,, Mé :: 7~ fég H -Gl fo~ o e 2y
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2357
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B
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Chapter 6a — Outcome 20.3a — Rational Expressions

Level 2

Determine the non-permissible value(s) for each rational expression.

4) 5 b) x+3 o) 1-x
x+3 x+4)(x-5) 3x+5
XLt -3 LE A x2S Lt -2
3
2a m+1
! a® -3a 9 m? +5m+ 6
Ala -3 (m vadm+3)
Q0 a+3 M+ -3 ,-3
3. Simplify each rational expression. State any non-permissible values.
3(x +5) =l e Px+2) (x+3Y
a)—— b) e A b c)
(xA45)(x-5) —5x(77f§ Ko & 3(x (x—3)
- ALxey  Boe 2AS
g ¥ Sx SCx“é)
q) 34D o 5 AL s)x+1) £) 4xy(y =9)
4x~DGx+1) 2 W02x +1)(x (249(x +4)
E Stzen) 424
CESY EYFETED) LA
e oo
P&
T3 - -q
Level 3 K ;:\{\5 B.tq) =T
4.Simplify. State any non-permissible values.
Sﬁrhﬂ/ 3x-6 cd
®) orsid w 24 XE=29 o3
3¢ 3 cok J+0
Sst (-7‘—*":3(36'3-3 Alerd C# -
C
40,520 €40 2+ Crl
Tm-c x*+x y2—2y—3
) 4c—28m €) ** —~dx—5 2 y* =3y
Fm<c xlxel) (y -3y 1D
i =L /l\
Y% (-C A mM ) (o =a=2
LB oy ylys) yzo,3
- x5 y+ )
o 225 -
me C v,



5.Simplify. Identify any non-permissible values.

3% +11x -4 b) 4+8a +4a” 9 20 45042 5 &2
X +8x+16 j 16 - 164> 5x% —5x—30
G-z 4 AoPagurl) A& Qe+ LY 2 w2
() LWL =™ arl = 5(z2-322e%)
Bl AL (g Olard M) o
e HUFOO -0 aek)  zx3 g )
122% + 4x 4 — 161 | 155° + 522
V32 5x 2 . 6+1-20 L£F :-3\ 2 B 6x* —13x -5
Bl 321) HE R gy y| AL Sma)
(3! Y- 22 Sad ) s .a | G GE—H
4« M Gl 300 a1y Sza
0 P (2 T 2. =5
ve 4, SR | e Ts




Chapter 6b — Qutcome 20.3b — Operations with Rational Expressions

1. Simplify each expression. List all non-permissible values

s

bx |4 2=3 Wat=2x-i

Y E@](ﬁ} s [;:2—4][ x+2 }
- {

L#+O (e (e — =0 ) Z;:L
34 Yy 20 (@Lu”&ﬁb;féf) A
A% - )
3 ( L*r—?)bu—\\;z_ iﬁ j;'a{" & $
x+1 ) (x+ X +8x+7 _ x*+7x+ ¢ .
N [3x+5J ‘ (3“5} ! (x2—6x—7 " pew—dd g;@—isz—”i)
= - 2+
% —f'—t—""ﬁ . 3 (453 LWL/-?I:} %163
) SRS ST 3(_744,/(03@17‘4’)
x+1 I’JCO—I'SS 2 ST 42 =y
e)¥—+ 3x B x+5 245 x45 % At q;‘",)
51 -t TF0O Ch
2 3 v s
Jxtb-2x *a Ly ~&
Tx+6 (3x—2) L 14'5
g fr+2}(r—'7\"?(v.|_2)(_x 2) P I 2_
Lo« "
422 il
2
Cxson e
Level 3

2. Simplify the following completely. List all non-permissible values

3 2 --E
a)[ Sy % J{ 25 } 5#:—5 | B [zx_gx ][zx +x—10] 2L+ '3,

: 2
- 2
¥ +ay-5) ¥ -2y-15 5.-3 % «x~15 “B,

0 U
Sy (gENy o) 2 () @3 Eaz9)
(ysj(w (475)(y+3) C?}?g_k Z3) CarH0G )
=)

. €A
Yrd




o X +8x+16 3230 (@ =)

o
_ ' d) 164’0 4ab* Q#:D)"‘Z
(x=3)(x+5)  (x+4) A+ 5

[ ¢

a*-2a  a’h- 4b 0 (6 -uy =20

—4 i—'l | : é : -~
(l-l-/.\.)(_l't'q-) ™ X+ L[. d 4— % % /B CC\.'\' B\jtﬂfé.)
(L3320 3 +lz-) Ay Hole™
(29 | ~rat~ U (o £3)
3 (-3 o~ )
o 3213 g =} #-3,3 =\ x (e
) 2Ly J P EE x2—936+;3—_6(€;_+t3 i
-l (o) A2 s
o | B
A
( \ q 4+ 5:(,9* A \%l
( @34 Cx+Glzr -0)
B 33 —D D2+ (o‘JL,*-_E))
el ’53:\ (a2 3
B RS x2—144; X-x-6\ P+rdx+4 220 51
(.;u—'ﬁ =N B s s . e [2 ][x2+10x—24] —1,5,1;
L+ 4 3x ~10 (’f%jo““) w 2600 .ba/;l:&l)
T —_— I x= (x-3)p4)) “or=tdtad)
Cx+I -3 _ )‘é (ZAP£2
S 2+ \\ (13 (x+2)
e W T BT 1Qx (2 -3)
3" . \
_ 2 2o Q+# =3 v3
(o3’ %‘ e ) y—fy_:% yz\?% 20
; ~ 2P
(a3 >Na3) (a+3)a -3) (2) CB @D(S D (—‘j ,5)(3)@3 (3_2\
Hot -bo - > -\8 347+ +@y* -y
Qar3Na-3) Ag* -3
T e L
3“‘0&*-\8 w 34
- fo(0 &) a-3 Wy =N ly+3)

2(9:3)0-3)



Lx BT Qx Y )

)
x—11x+ 28 x2—8x+7 (1.
(24) N-DGe=d> G-t

( 24+\D
“41-—»&&:)
Zz‘g-jrx-a-(o - (=* - Ao a0y

1a-®x—-x.+lo — (x2 Sz

1) 8 B x+1

3x-18 x*-5x-6

(z+n) 8 ze1(3)

D3lx) (-G Xzr) (2)

G - Lz ~lstan 248 — Fex -3 AL # -l
Qliilur B WE (‘}‘7 5 5 ©

! 2+
AL A=A ’

CI‘DCI*Q%L“%

2 _49 2 27—-1)[-1_""-0

x2—8x+7 X -1

(FFNA) | B-Qu
(-0 C) -4

(2 ))7@3—) .
(et D=1 CoeDle~D

g A - T AR SN e
2 v lbx 9

n)

(2 ) 5
361;4!) SRR

Gx+83%" (x_g)uuﬂ
+5x+6  (x+E-5) (e,

Lo
A, 3 Cx.-S)(:ua\Xxﬁ)

oA 23
+37¢~l074 -40 - (769‘—92%&-!&)
AL =
Az dx-q0 - (_xl ~ . ~I&)
A¥N - A% — U R SR e T Y

WA +5 3 -22

(o= 300+ DGR

AtS, -2 -3 .
CXFZIFI)
| (z +\WOl2e-1
(Z+3)> " 5 %3 D ) Wlh_i |
it LA ¢
Coe +1 -\ (£2) 4- - | y
3/ 23 (-—0 (q.m\
3. Simplify. Koo 4(x-3 ’L h
| SO L Iy (er)w'-bm
" i 23
o N e Gy ~@-% T _ Y % |
& LA o - [ n
L s T s ) s
¥ >
L "_'_ 3)("\-2
B L x-l i x =3 = x
= % £ . g H(dan) W
B -, S S
o Jlw-4
Z * f——l l—" ) ) - \
-4
P =



Chapter 6¢ — Outcome 20.3 — Solving Rational Equations

Level 2
1. Solve each equation. Identify any non-permissible values
2 x 5“'9 il g
(_2_4._ b) e = =
3 \{4 6;5 2 a
Ax(R) _ giRY, 502 Sz ba =Y
4 ¢ .® L Q=649 ‘
G = Bm+lb 3
Sa =10 Z R
2 =2 2 =q
42T > 4 3
o gt o aE
) 1“___3=1_1¢F_42_¢-’ d) x_zillx':llﬂﬂj
PN EAT ]
J5x2-45 = Il % -bx bx? +ilz =
IS -45 =S é;’(,z Fllze -2 o
- 495 % SO LB;{-\)C‘x‘rlFO
A = --([5 % =1 =z =
s
§-46% §-9 L

4)
il ' jﬁWé\

2. Solve each equation. Identify any non-permissible values

a)———21 :—35'“3 b) ¥l X
il ) ATA
= =l - .
‘;(l) e - l;;. ;(,1-51,1']':(_ -5 = O 3
. 2+ A ___,5 = 2
é"g; é~5§-
T 2
l’*N (.?”‘PL’L M L**g
o) x+4=x—4‘ 8 }f_—ZZZ—x’
21 254 Y “xfl
Wﬂ;—ﬂ_—%—g————r&r&—i_ Fa— "
§ ¥ S 992 B% -2=0
R 4 (bcf:)(oc«:z)_z
x=7y F 4 2f
7

Mf"% o .



Level 3

3. Solve each rational equation. Identify any non-permissible values L\g) Lﬁ" ﬁ

3(3 :x+15_5>(-}“(2>} b) C_Lx__x.+4:§) X o _!"U
x+3 x+3 x+1 x+1 x

XE—3
3 e VS — Bl 2O - ) () = ol
3::{,.\-\3"‘5:&_’1.3- 'X,l—‘x,,'l‘-’—l-'x—’(ox";"g
= ~bx “lbx
3= -t
TR i%} 10 2= & SL'O%
A = ~-0O.b
L o O
4. Solve the following equations. Identify any non-permissible values \
a<x N 2+9 _ 2x )()6’5&)‘-"5) b) ( 5 1 _ 3 (J"z')bt* 3
=3 x'-9 x+3 ) .= x+l  P-x-2 x-2 4 2, -\
Cerle-» RE =3 Cx =2 X en) *
Qlxed Sta-Ql= 1@& = 3 (1)

Llz+3) + X+ =

+ID “3 o

_?,/2_ SHse = - O 3
e
Q= -l Qh: % E?’}
— =% “\—8 7":’1

o X5 _ B 2x+9 H:ﬁu 5{ 4 LQ%)«?DL\L’Z)
2x+4  x-3 2 -x-06 2x+3 D —x— 6 x-2 X 2 _}_
A+ (e-3dvap  xz-a 3y (R g
3 xx Q) * A0 = Y Aax+3D

(e +5)(x -3) APIETENY -3, (A Q) 2,2 b x 30 Bxr
x:z-tax-lb: a‘xo‘ -\—"‘"K —L.l_x ‘-‘8 _%\( |2 __%,( 4= |2

O —oUN G — 2 — Ax + IS
3\( "—lt‘\\x 1 g T O_ O

" = 2




5. Solve each rational equation. Give exact and approximate answer. Round approximate answers to the

nsarest hundredth. 5
th{a\‘*ixs X a  _ xwl K F =5 x=1 (x+2) _x+1 12
a) + = ] b) = =
2x+3  8x+12 5 x e 3x X EO
H - B3zl = 3 (=)= el
"HS)(:;Q + 5 (5) = H(ax pb)(ﬁ.ﬂ 32 _‘3"1 2 o= 2 o
Abx +Aas = ‘-l-(ax°+‘-5x_+53 2 b - = L
QD +AS = Zx3 +20x + I x _7(3_ o B

-2
O=8’)(_2" --13 o, \'3 -"7(«1
A28 fems 8 _

2x+10 x2—=95 x-5 s r

a(x+5) C)H':S)():.—s) a\g—:’ 32 x_____q Y S-q_{—
-Lr - —
. (x-5)(%-3) 8(23 a(x+5)( x) : c 8 o
A Y-\ 0%+
09 _ 5 T AvR (10 _25 SL
{Liz X% *10x +“° “x% +)0x  + K t\_‘—&___.ﬁng

= -l ~5‘43$o W= 20+ &J_{'D

: ) 1. i‘@*?@i




Chapter 7a — Qutcome 20.1a — Absolute Value

Level 2
1 Evaluate.
-82
a) |-42| b) \—3—
48 . 52
3
2. BEvaluate each expression.
a) |-4 - 10| b) |3 -5(7)|
|- 14 | |3 -3
4 =32
Level 3 3 &

3. Evaluate the following
a) [4-8|—]1-¢6|

=41 - \-s)

c)3|5—-3|-3|6-9]

3(2) -3(3)

c) |3:75]

3 35

c

—

S(1-21) +1-3]

L2y 3
' 3

¢) — |—42| — 4|~7| + 5|4 — 6]
=52 -43) +5(2D

Y -5 6 =9

) -42 -2 \© .@
" S +
d) —2(3 = T4 + 316 — 4|) e)|23—;—-4l5—8(2)|

f) 4|3 — 32| -3 + 7|4 — 3]

S-4)-u |-
4 - g Dolefpl =2
" LEY 4 -4y 4 e) -3+73
< =0 <4 -2473




Chapter 7b — Qutcome 20.1b — Solving Absolute Value Equations

Level 2

Given the table of values for y = f(x), create a table of values for y = | f(x)|.

- o] 1ees
O \
2 o
< \
[ 25 2.
gl 3
b) |
i 3E. \ \—CCDCD\
-4 S
= (@)
(&)
L, ’25-\
2. Use the graph of y = f(x) to sketch the graph of y = | f(x)!. /
YA K
4 / T
) o //t* 0 ; i 6
£ N
- - ‘ y=iflx)
2 0 j 1% =4
B 1/ \
' 1 \
Y N \
=1u *
3. Solve each absolute value equation. Verify the solution.
a)|lx+1|=2 b) [x—=3|+1=0 c) |2x]=5
X+ = 2 x¥l= -2 | x+3)= -\ s T N -5
W"\/' - x-= x=5  x=5
R 2

iaS,\_B P L5
1234



d)2[x-5|=8 e)
| 2 -%17
1-5:4 A =G = ¥
xzq‘ I‘J

Level 3

L 3
|-2x-3|=5 H Bx-2|+6=12 \\
3T s 0 R,
..a;:'%d j-?:} 51_2._.,6 3‘-1’(/
5}:2 52-"/
.:'/ ﬂ«y./
54,1 o i

4. Solve each absolute value equation algebraically.

a)lx 5|=3x+4

-5 = R ~8C DY
= 22 qx:/
J > X x </
X ;/‘/
£4¢
c)|x2—3x|=
x B¢ R A
3‘9,5" =0 1_1-521*'4:6
(o )= r1)7O ot =3 J-7
way x<-1 &
w = X

1-/ Lff

13m+2|=m
AImeldom

A= "dn

—]=m

i %

3 =|—4x" + 8x|
442482 +*3
Yx?-¥x 430 4z - A =3 %8
(ﬂz-l)cﬁm‘b)'o P W
x*L 72 —
LM

e\
-
Rl
W
V\fi\ 0




2 ‘-/_ L e R
Do Tl s 4 8D = Siw 7D
e) |[4x|=x" -5 f) |2(x—4)*-5|=3 9,2 o
Yx ~x2-5 Y= ~B+5 Alx-4)-5=2 X = TiRE Poe =0
¥ 0;—}2.:/1.5 .')tz'-"("’-'x"'s"‘(-" 2[’:&.3—%){ *1@,)"5-‘- 3 ;(. / '.?f.»?‘"‘.i'_l I-If‘%j) =G
"o = (xg)x*1) (x r8)(x~1)~C 2% -l6x #32 223 2 (x—d)(x-5)=C
| 225 a=! 135‘1:1) }o ¢/ A L far2¢0 X=3 2=
Jao)*d0 14/ /)28 177 / 2 (2P#%x 729 - v
v ¥ % A / (:f. _é)&-‘ b ;Z) =0 &
4,58 [ 2wk wem
/5/-:3 /%/f}
0,2, 3,9¢
g) 0=|x—2x—3| -4 hy  x+l=|F-1 sgpagm Bl
=224 -9 —1-,19,)2“.7113 xtl x| O = 2+
aal ?
— . o =x%-2x?/ O=x"-x-32 A =2 (21 1)
’-C{}_l 72;- 5-7 LI—-‘IJC)"/) O-‘-"’(I 'J-)(J"J) "/-)L- I{,,
R ol o ox =2 xe ==
>z
X= ,’2.‘_@ . ]9 3 a-’/o/ f-«f}O’ffI
- AWML IEAY
= a4
® .5
= [t2]2

i) |x*—3x|=3x-8
x*-%5 =32 -§

Eesfy

= A

. ¢ | =2 7S
T}‘ { ~edf o

X g

11—5)( = =3a21¥

x?s6z +¥8z0 e )

(¢ -2 (- 40 x> a2 T Xu’iff
x=2x=9 202 -2 ’ -
/"‘2/=“? /7/% }__' ffléflj,‘/g /‘b.qgl = -/645’

5. For each equation, state the x and y intercepts, and the domain and range.
a) f(x)=|2x+1| b) g(x) =|-=x-4|
t-) ind L(i\: o) 3@): }“‘{[ 5"7/ y l.ﬂ’é /Ol‘{.}
2 ¥ ( 2! - x-Y =26 X int (*%q)
- 00 oo oo o
D L, il
r CG)OD @ 3"
R Lo
\J ¢) y=|x"+6x+ 3 A =[x+ DE-3)
lj'= lo+o\-5\=‘5 yf'\'{'cc’,5) g(c) Sj(l\(.“i-"'_ ks, ym}f( (Cj',) (3 O)
O *xX?6x 30 (45‘0)@0) Kinke x iake (3 JO) /
(fo’)@tﬂ} ’D (_w 00\ 'D L~OC-‘+CO)
ox 25 j"lf . ) E
T LCJ OO) -5 6,00



Chapter 7¢ - Reciprocal Functions — Outcome 20.11
Level 2

L. For each function,
i) write the reciprocal function
ii) state the non-permissible values

a) f(x)=3+x b) §x) =2x~1
s sl y=__.L.
B+ | x|
gk = x££ L
5 x—i_ll 3 =
O h®)=(x+2)x-3) Y= — d) ) =-24-12x- 10

X+ Y x-3)

2, State the equation(s) of the vertical asymptote(s) for each function,

Pf=—e g

Xk | -5

S5~x
1
b)g(XJ~7x52 %= j‘/’q,
1
C)h(X)_(x+1)(2x+1) 5 I R |
. o-
d) A(x) = 3
2x°+2x-24

K==l

j:l

[ Y

~A2Ry ~| 0
—-( x a9
= GVATSPIC A

S =12y -
(s \ )Ck"3) %=

3. What are the x-intercepts and y-intercepts of each function?

: b) y=—t
2x+5 3-2x

Y+ (O;Z‘%) Lj W (D,‘L>

a) y=

- -5 NG 2 int
NG X ks Vo @ x- -2 VA.@ x= 3,
1 _ 1
) f(x):m U gy~ X+ Tx+12 C‘M‘3)LL+—\*3
QA *1'3  Yint (G
g0 3) NO 2¢ \n+ "
A V.AF &) *=-3 X=-

nE 2 vyt \/w(-\@ K='s %=l



1

4, Given graph of y = f(x), and sketch the graph of the reciprocal function, y=
a

FON
YA 7y \I
) y=Af 4 i
o S 7\ I
= 5 0 4 X 2 4 ?
|
_ )
.9 .
\ T T
‘ \ ". A
L
Ax e | |
. 7 ;ﬁ 7
Pt : \ ?% A= - = L.
0 0 T >
2 \ L)
\ [\ / \
| ) y=|fx)
: TNy
\ / \
\ Y o] \
W A |
\
Level 3 L

5. Sketch the graph of y = f(x) and the graph

of y= on the same set of axes. Label the asymptotes, and the intercepts.

(x)

a) fx)=x+2 . /\',\

A .

flz)-_L

243 !

Nt 2 o

S\T\"\' (,D.'\E_,')

VoA, @ w=-2

(.‘--



b) f(x)=3x-3 *

la A
A ;'
1T T
i - -
\ | 1
17T
114

¢) f(x)=(x-3)x+3)
) o = O
-:‘u..li?«.:j S

. o \
& 7 [ r i e a )
Wox 3% 4 V(o) z : .

VA 2= x=-3 R EEEe e DN ENNENEET

NO 20

\‘\ {D \ ":-\3 ; |

—}=

- -

d) /() =(x+1)*-4
V(-174) x ]

- i P e -
\'f":% e 5}“{*"\ *-ﬂ' . - ’.

; EEER T |




Chapter 8 — Qutcome 20.8a — Solving Systems of Equations

Level 2

1. Solve each system of equations below

T = A
o o \ uy
S VL
r B \ /
.z— - . T \7
. \ /]
< , . / \
- I e 1
..... 7 R A =4
""" . [ \
0N\ | \
Y y Y
(512) (4. (2,-4)  (0,0)
2. Solve each linear-quadratic system below
i
a) 2¢°—S5x—-y=-1 e _
Tx+y=1 At ¥ In=0
- % - x ay L‘L*JLB:D
@3:—_"n<.+\ w= D ==\

Yy = -FLO)+)

(:) (:) = ey
Qx? -Sx = (A== -)

Ar> —Ox FRAx -\ = -\

b90=x2—9x—y+1:\ o
@ytz_:x_—.\. O= %2 -9 — %) 2 V%
®y-z-d  OFxt-Qr-xrF Y
Y+
0= x™* ~\Qx +3)
@-0 0= (x- =D

x=® X=%




W25 2w

) 2x+y=9 Ax* oty - (9-2+¢)==S

@2x2—4x—y:—5 A -Ux -973 Ax = =5
O = y= Q- 2« Ax* =A< =0 77
© =@ Alx*-x =A)=0

A (x-a)lerDH=0
sf = 22 ®=-\
= ]-202) Y= -2

=\
dgoy=2x+1 L) J -\ \\)
@y=x-5x+13 ‘
OEE;
Do | = w25 \3
Ozn“—?x =

O= (v -)L~H

CE
= 20\ g g
,,|§ 4§] Q)
e)3§c’+ : 3‘“‘@
@ 22-4x - Y—2-0 _
® : =Rux <Q“"SX"_Q\=Q
3 x:—é % =2
Q) & - Y= ~3LedS
DA gy - LBerd) 2220 [2,-4)
D> -y 3 x =4-2=0
Q\Ll -x-o=0
f) 3 +x-3y=-8 Q_ ,;0h.3
x+3y:9 -\ +’=~)"‘\"q 3 *-3‘\
2u=\0 =3
) 57‘_'-1 *‘X-—Su\="8 \J\-':\_E_’ )\-\r C\u} ik
O ex 2B =T 3 Ay = L
- 0 .
84 % A _'“\ -1, & 9> =
SRt T3 2= )
(B KT TS e

¥= K=



Level 3

3. Solve the following quadratic-quadratic systems

a) y=x*+2x-3

y=—x-2x-5

AL DL~ 2 =% F-Ax -5

Qma yd v 2y =

(=

QR v Ax+x\N= 6

o x \'BL\H-\\ =

X==\

Y= G0 AN -

=\ -2-3
= -y

b) y=-x"—3x+ 14
y=3x"+5x— 18

- x* “Dx a4 =3x2 L Sx -4

O= Q™ +8x -32
Oz Jv® v Ax - &)
O = 4 (w+r4)(e-22)
v -l ="
Q . -5
O)dx+y+5=x* -Qx -5
@x2=5x+2y

® j:ﬁl*—“\\“s

® >

0 |

3

37 - ENTBeW) ae

\C;Lh lD\j

N C - B R

=]

\j:.. Xl“4¥ -5
Y= S -15)-5

RS,

L e A N O e L
2 * - R ~1D
_X\‘L—— Ox r %;-1 g \ \(*‘7- \:1‘) )
O = Y\D"Sy. O
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Chapter 9a — Graphing Inequalities — Outcome 20.9a
Level 2

1. Which ordered pairs are solutions to each given inequality?
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Level 3 0-82qAN™

3. Graph each inequaltity -§2z & Q= 2
\( &\b ]
Graph each quadratic inequality.
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4. Pierre wants to take his extended family
to a movie at an IMAX theatre. He has a budget of $150 to spend on tickets. Tickets for children cost
$9.50, and tickets for
adults cost $13.95.

a) Write an inequality that represents the number of tickets that Pierre can afford.

b) Graph the solution region. WX C= Onnd \-‘w CeWw
¢) Interpret the solution set in reference Q = C\.d,UH' h(_k_m\r G B L
to the number of tickets. i -
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Chapter 9b — Outcome 20.9b — Solving Quadratic inequalities in one variable
Level 2

1. Is the value of x a solution to the given inequality? Show your work.

a) X’ +3x>-5,x=0 b) (x-4)(x+3)<7,x=0
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3. Solve each inequality. You may choose any of the methods we have covered during class.
Graph paper is provided if you want it. = (B2 -Ax -\S)

a) 4x° + 18 > 17x b) —8x*+2x+1520
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a) determine the zeros of the function
b) solve the inequality f(x) > 0
¢) solve the inequality f(x) < -5

4. Given the function f(x)
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5. The royalties received by an author depend on the number of books sold and the price
of each book. For a particular book, the royalties, R, in dollars, depend on the price, P, in dollars,
according to the equation
R =0.02P(20 000 — 200P). For what range
of prices would the author receive more
than $8400 in royalties?
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